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“ El
a m_l
m—— kPa/m? B B.2
3
10.2.12
1.3
10.2.13
10.3
10.3.1 C20

10.2.10—2

10.2.10—3

10.2.11—1

10.2.11—2

GBJ 10
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10.3.2

10.3.3

10.3.4

10.3.5

10.3.6
50 cm
10.3.7

10.1.1

10.2.3

10.2.5

C15
16 mm

8 cm

12 mm

1/3

1/4

12 cm
3
6 cm
GBJ 10
14 mm
40 ~ 50 cm
16 mm



3077 -

10.2.6
10.2.6
P
10.2.6—1
15% ~20%
ERERTHR SN
! > %
/1 e .
|
bk-
WAL R RE S
7y LT K|
10.2.6
10.2.6—1
2
) 0.255 ~ 0.261 ~ 0.410 ~
O.Sh]* 05h1* 0.5}11%
0.268 h, 0.262 h, 0.490 h,
0.614 ~ 0.420 ~ 0.603 ~ 0.530 ~ 0.410 ~
0.664 h, 0.446 hy, | 0.900 h, | 0.550 h, | 0.600 h,
0.577 ~ 0.542 ~
0.590 h; | 0.590 h,
*
10.2.6
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1/4 ~ 1/3
10.2.6—2 P, P,
p, = P2 ;Llhi/Zi =3 10.2.6—1
P, - 2PL 3h/hy - h/hy * =3 +3p 2 - h/h
hy - h,
10.2.6—2
P— kN/m
[/
10% ~ 15%
L— m
hy m
10.2.6—2 hs
G/ h, h,
1/3 hy/2
1/3~1/2 h1/2~ h{/5
172 hy/5
10.2.7
10.2.6—1 10.2.6—2
Py Py
y < hy
Qy, = Tiy +0.5T,y*/hy = 0.5 Py + Py y*/h, 10.2.7—1
M, = 0.5Ty*> + T2y’/6hy = Py + Py y’/6h, 10.2.7—2
y > hy
Q, = Tiy +0.5T,y*/hy =0.5 Py + P, hy— Py y — h, -
Py y—hy +0.5P, y = h, %/ hy - h, 10.2.7—3
M, =0.5Ty*+ Tyy’/6h; —0.5 Py + P, h, y —-2h/3 -
0.5P, y —h,?>=0.5P; y —h, >+ Py y — h, /6 hy - h,
10.2.7—4
— kN
M — kN m

y m
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10.2.6
K 1 K”
10.2.9
1
2
0.2 x 10° kPa
2
10.2.12
GBJ 10 1.27
6.2.3
TJ 10—74
10.2.13
10.3.3~10.3.7
10002.5 GBJ 10
1
16 mm
cm 6 cm
2 GBJ 10
3

0.3 x 10° kPa/m

1.3
GBJ 10—89

TB 10002.5
12 cm

TB
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11.1
11.1.1

11.1.2
15m 1.25 m
T 5~8m 1/100
10 cm
11.1.3

11.1.4

11.1.5
11.2

11.2.1

1.05~1.10
12.2.3
11.2.2
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11

11.
11.

11

11

.2.3

2.6

2.7

GBJ 10

11.2.7

Bp=b+1

10 mm

a 11.2.7

P

11.2.3

1.34~1.45

1.3

11

11

11

11

11

11

1.

2.8

11.3

3.1

M30

3.2
.3.3
3.4

.3.5

1.1

C20

10.3
40 cm

25 cm 10 mm

20

1992 1993

30 cm

32 mm

70
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11.1.2
m
18 m
11.1.4
11.1.5
11.2.2 L, 2~4m h
5m 15 m L.,/h<0.8
L,/h<0.8 0.7~0.8
0.7~0.8
11.2.5 K m 6~10 mm
10 mm
11.2.6
11.2.7 TJ 10—74
GBJ 10—89
a, TJ 10—74
1.4
1.05~1.10

K 1.47~1.54
GBJ 10—89
246
K=1.4 a,=1.29~1.34
K=1.47 a,=1.35~1.42
K=1.54 a,=1.41~1.48
1.34~1.45 1.3

15



3083 -

12.1
12.1.1

12.1.2
GB 5224

12.1.3
JGJ 85
12.1.4

N AW N =

12.1.5

12.2.1

12.2.2

12.2.3

12.2.4

10.2

1.05~1.4
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P, = F/ sin a + f3 tan$ + cos a + f3 12.2.4—1
F— kN
P— kN
¢‘ o
a o
p— 45° 15° ~30°
P, P, P <P,
12.2.4
12.2.4
P,<0.6P, 0.75P, P,<0.65P, 0.8P,
P,<0.7P, 0.85P, P,<0.7P, 0.85P,
P;<0.8P, 0.9P, P;<0.8P, 0.9P,
P, KN P, kN
P, 12.2.4—2
n
F,g P
n = S'Pu ‘ 12.2.4—2
F,— 1.7~2.0
P—
2
3~6m 1.5m
12.2.5
1
3
2 FsZ
F522
F822

w L 4~10 m
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12.

12

12.

12.

12.

12.

12.

12.

2.6

12.3

3.1

3.2

3.3

3.4

3.5

3.6

3.7

10%

$22 mm

kPa

$10

l _ FSZ. Pt
=T o dy Ty,
l FSZI PI
7 e owodooTy
Z FSZ. Pt
d T e dy T
m C C.1
m
m
kPa
0~ $150 mm
3
$12.7 mm $15.2 mm
0.6~0.8 MPa

C.2

1.5m

M35

70%

12.2.5—1

12.2.5—2

I m
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15% ~25% 10% ~ 15%
70%
12.3.8
12.3.9 cl15
12.3.10
3%
3%
12.1.1
12.1.2
cC C.3 1 860 MPa
GB 5224
12.1.4
12.2.1
12.2.2~12.2.3 1.05~1.25
1.05~1.4
12.2.4 60%
13 0.55~0.65
0.62 0.66~0.75 0.705
0.58 12.3.1 VSL
12.3.1—3 F. 1.7~1.8
F,=2.0

15°~30°
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45° 2A +1

P=asit2as1 P
A—
¢ a
1.2 m 1.5m
3~6m
12.2.5 4~10 m
4~10 m
10 m
12.2.6
1 m
3~5m
12.3.3
12.3.7
5% 2

12.3.10
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A
kN kg/m /km kN/m?
m m m kPa m
17 3.5
0.50 3.6 | 59.2
1 1720 18 3.3
220 75 3.1 | 1.75
| 18 3.4
0.35 3.2 | 60.4
19 3.2
17 3.5
0.50 3.6 |59.1
1 1680 18 3.3
220 60 3.1 [1.75
m 18 3.4
0.35 3.2 | 60.3
19 3.2
17 3.4
0.45 3.5 | 57.6
11 1760 18 3.2
220 50 3.0 | 1.75
Il 18 3.3
0.30 3.1 (59.2
19 3.1
17 3.4
0.40 3.4 |57.7
[Ill! 1680 18 3.2
220 50 3.0 | 1.75
Il 18 3.3
0.30 3.1 [59.2
19 3.1
17 3.4
0.35 3.3 |56.9
m 1640 18 3.2
220 50 2.9 [1.50
1 18 3.3
0.25 3.0 | 59.1
19 3.1
1
0.1m 0.1 m
2
3 45°
B
B.1
Ey kPa m K/ kPa/m kPa
5430 ~6900| 0.25~0.30 2.0x10°~2.5%10°
80° 1 500
6 700 ~ 7 870 0.28 2.5%10°
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Ey kPa m K/ kPa/m kPa
5 430 ~ 6 500 0.25
80° 1.8x10°~2.0x 10° 1500
6 560 ~ 7 000 0.25
4400 ~ 10000
4 660 ~ 5 430
80° 0.25~0.30 1.2x10°~2.0x 10° 1 500
5 430 ~ 6 000
4 400 ~ 9 000
75°~80° |4 460 ~5 000| 0.25~0.30 0.8x10°~1.2x10° 1200 ~ 1 400
5 430 ~ 6 000
2 000~ 5 500| 0.15~0.30
70° ~75° |4 400 ~ 8 000| 0.25 ~0.30 0.4%10°~0.8x 10° 700 ~ 1 200
4 600 ~ 5 000| 0.25~0.30
800~ 1200 | 0.29~0.38
1 980 ~ 3 600| 0.25~0.30
70° 0.3x10°~0.4x 10° 500 ~ 700
4 400 ~ 6 000| 0.25~0.30
1 000 ~2 780| 0.25~0.30
700~900 | 0.29~0.38
65° 1900 ~ 3 000| 0.15~0.20 0.2%x10°~0.3x 10° 300 ~ 500
4 400 ~ 5 000 0.25
30~500 | 0.29~0.38
10~300 | 0.30~0.37
45° 0.06x 10°~0.12x 10° 150 ~ 300
500~700 | 0.15~0.18
50~300 | 0.30~0.40
10~300 | 0.30~0.37
50~300 | 0.30~0.40
30° ~ 45° 0.03 x 10° ~ 0.06 x 10° 100 ~ 150
50 ~ 100 —

50 ~ 100
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B.2
mg m
kPa/m? kPa/m?
1 0.75<1,<1.0 1 000 ~ 2 000 500 ~ 1 400
2 0.5<1,<0.75 2 000 ~ 4 000 1 000 ~ 2 800
3 4 000 ~ 6 000 2 000 ~ 4 200
4 6 000 ~ 10 000 3 000 ~ 7 000
5 10 000 ~ 20 000 5 000 ~ 14 000
6 80 000 ~ 120 000 40 000 ~ 84 000
1 I, my m 0.6~1.0cm
2
C
C.1
$12.7 mm $15.2 mm
d, cm d, cm v cm d, cm v cm
3 dr+3d /= 2.48 7.79 3.00 9.42
4 dr+4d /= 2.89 9.08 3.46 10.86
5 dr+5d /= 3.29 10.34 3.94 12.38
6 dr +6d /= 3.70 11.62 4.42 13.89
7 dr+6d /= 3.70 11.62 4.42 13.89
9 dr+8d /= 4.50 14.14 5.39 16.93
12 dr+9d /= 4.91 15.43 5.87 18.44
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C.2

MPa

1.2~2.5
1.0~1.5
0.6~1.2

0.03~0.04
0.05~0.06
0.06 ~0.07

0.1~0.15

0.09~0.14
0.16 ~0.20
0.22~0.25
0.27~0.40

C.3

mm

MPa

kg/m

b,
kN

%

1000h
%

kN

0.7P,|0.8P,

0.6P,|0.65P,

u

0.7P,[0.7P

12.7

1860

0.774

184

156

3.5

<2.5

<4.5

110.4]119.6(140.4|128.8

1860

139

1.101

259

220

3.5

<2.5

<4.5

155.4]168.4| 198 |181.3
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